1. (12 pts) Evaluate

(a) /idm

J 8 — 22

x=l  A LR LS
x?(x -1) X x* o x-%

= %= = Ax(x2)+B(x-2) ¥ Cx"
x=0 == =%(-D = (8=4)

e mch 5 G

MATCNING COEF oF x™

I P "" hte=o

mm = A +c.

\ \
i
oo

M

b) /..T.’tall x) dx W= )r‘**\_‘(xS v = A C}\
dl&t o O\;c N = '\1:%
LT N Wt _ Ly o
7 X ’\'Cu\ (KB g: (P‘:L*'I“) CS\;Q 4 |
) -\ e \ - (X7
- Z q_%”m\ {)()—Z% \-—- ;—'_“_" p 4 - |

| X = ;
+ ?\w\%"'ﬂ*‘-\: r‘r\v\\“';l'\ -3



2. (12 pts) Evaluate
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3. (12 points) Evaluate -t —- x’S
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4. (12 pts)

(a) Use Simpson’s rule with n = 4 subdivisions to approximate the average value of f{z) = el
on the interval z = 1 to z = 3. (You can leave your answer expanded out with all the correct

numbers in all the correct places). -
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(b) Consider the improper integral f —1m dz. Determine if it converges or diverges. If

it converges give the value, (You MUST write as a limit, integrate and show your work).
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5. (12 points) _ y
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w1th helght The flgme above left shows the tank The ﬁgulc above-rlght shows t Q f1 ont face of
the tank, which has the shape of the function: f(x) = 4z*.

Initially, there is fluid in the tank up to a height of 1 foot. The fluid weighs 15 1b/ft?. How much
work is done to empty the tank by pumping all of the fluid to the top of the tank? \
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